

NUNDOR

TITLE

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

MARCOR Remediation, Inc.

246 Cockeysville Road

Hunt Valley, MD 21030

Request for Quotation

ABATMNT07

PA	GE ::
	1

*******ADDRESS CORRESPONDENCE TO ATTENTION OF:

BETTY FRANCISCO 304-558-0468

SH-P-TO

ALL STATE AGENCIES
AND POLITICAL SUBDIVISIONS
VARIOUS LOCALES AS INDICATED
BY ORDER

ADDRESS CHANGES TO BE NOTED ABOVE

DATE PRINTED TERMS OF SALE SHIP VIA F.O.B. FREIGHT TERMS 05/26/2006 BID OPENING DATE: 07/06/2006 BID OPENING TIME 01:30PM LINE QUANTITY. UOP ITEM NUMBER UNIT PRICE AMOUNT REQUEST FOR QUOTATION FOR OPEN-END STATEWIDE CONTRACT FOR BLANKET ASBESTOS ABATEMENT THIS IS A RE-ISSUE OF ABATMNT06. NOTE: ********NOTICE***|*****|*NOTICE*******|**NOTICE***** A MANDATORY PRE-BID MEETING IS SCHEDULED FOR 10:30 AM ON JUNE 19, 2006 AT 601 57TH STREET, S.E. CHARLESTON, WEST VIRGINIA 25304. ALL INTERESTED BIDDERS ARE REQUIRED TO BE PRESENT AT FAILURE TO ATTEND THE MANDATORY PRE-THIS MEETING. BID CONFERENCE SHALL RESULT IN AUTOMATIC DISQUALIFI-NO ONE PERSON CAN REPRESENT MORE THAN ONE CATION. VENDOR. BIDDERS ARE REQUESTED TO TYPE THE PRICING SECTIONS FOR EACH REGION ON WHICH THEY ARE BIDDING. THIS IS A PREQUALIFICATION RFQ. OF THREE VENDORS SHALL BE AWARDED A CONTRACT FOR EACH OF THE FOUR REGIONS IN THE STATE. PROJECTS (IN EXCESS OF \$2,500) SHALL BE BID AMONG THE VENDORS WHO HAVE BEEN AWARDED CONTRACTS FOR THE REGION IN WHICH THE WORK IS TO BE PERFORMED. ATTACHMENTS: ABATMNTO7 SPECIFICATIONS, DATED 5/22/06, 30 PAGES SEE REVERSE SIDE FOR TERMS AND CONDITIONS SIGNATURE TELEPHONE

FEIN

SBESTOS RE	EMOVAL & DISPOSAL PRICING PAGE - REGIO	N 1 - Kanawha C	ounty		
Ωty. in Sq. Ft.	Asbestos Removal and Disposal	Price Per Square Foot	Hourly Rate	Hours Estimate	Total
1,000.00	Removal & disposal of glue-down floor tile with mastic	\$ 3.50	70-	50	\$ 3500
1,000.00	Removal & disposal of boiler pipe insulation	\$ 14.00	70-	200	\$ 14000
1,000.00	Removal & disposal of asbestos siding	\$ 4,00	70	57	\$ 4000
1,000.00	Removal & disposal of ceiling tile	\$ 5.00	70	71.5	\$ 5000
Mob/De-mob	Mobilization / De/Mobilization	Firm Lump Sun	n Price		Total
1	This cost shall be used in any subsequent contract for Region 1	\$ 4000 ⁻	70 -	57	\$ 4000
		Grand Total	70-	435.5	\$30,50
ENDOR / BID	DER INFORMATION				
ENDOR: M	ARCOR REMEDIATION INC.				
gnature:	Date: 7.11.06				
··· ··· · · · · · · · · · · · · · · ·	OORDINATOR INFORMATION				
	des BLISS				
	Leonberg RD	MAGINA.			
Crabberry Tup. PA 16066					
	724.742. 1115				
mail Address:_	bliss J @ MARCOR. COM				

Note: Contract holders shall be required to pay prevailing wages for any county in which work is being performed.

ASBESTOS R	EMOVAL & DISPOSAL PRICING PAGE - REGIO	N 2 - Greenbrier	County	P	
Qty. in Sq. Ft	Asbestos Removal and Disposal	Price Per Square Foot	Hourty Rate	Hours Estimate	Total
1,000.00	Removal & disposal of glue-down floor tile with mastic	\$ 3.50	70-		\$ 3500
1,000.00	Removal & disposal of boiler pipe insulation	\$ 14.00	70-	∂∞-	\$ 14000
1,000.00	Removal & disposal of asbestos siding	\$ 4.00	70-	57	\$ 4000
1,000.00	Removal & disposal of ceiling tile	\$ 5,00	70	71.5	\$ 5000
Mob/De-mob	Mobilization / De/Mobilization This cost shall be used in any subsequent	Firm Lump Sun			Total
1	contract for Region 2	\$ 4000 -	70	57 435,5	\$ 4000
		Giano Iotai	70-	7.65	(4.x0, S.00
VENDOR / BID	DER INFORMATION				
VENDOR: N	IARCOR REMEDIATION INC				
Signature:		_ Date:	7.11.0	6	
CONTRACT CO	DORDINATOR INFORMATION				
Name: <u>JPァ</u>	nes Bliss				
Address: 21 Leoberg RD					
Crauberry Twp. PA 16066					
	724.742.1/15				
mail Address:	BLIEST @ MARCOR. COM				

Note: Contract holders shall be required to pay prevailing wages for any county in which work is being performed.

ASBESTOS RE	BESTOS REMOVAL & DISPOSAL PRICING PAGE - REGION 3 - Harrison County					
		Price Per Hours				
Oty. in Sq. Ft.	Asbestos Removal and Disposal	Square Foot	Hourly Rate	Estimate	Total	
1,000.00	Removal & disposal of glue-down floor tile with mastic	\$ 3.00	70	43	\$ 3000 -	
1,000.00	Removal & disposal of boiler pipe insulation	\$ 12.50	70	179	\$ 12500	
1,000.00	Removal & disposal of asbestos siding	\$ 3,50	70	50	\$3500	
1,000.00	Removal & disposal of ceiling tile	\$ 4.50	70	64	\$ 4500-	
Mob/De-mob	Mobilization / De/Mobilization This cost shall be used in any subsequent	Firm Lump Sun	n Price		Total	
1	contract for Region 3	\$3,000	70	4/3	\$ 3.000	
		Grand Total	70	4/3 329	\$ 26,500	
/ENDOR / BIDE	DER INFORMATION					
/ENDOR: M	ARCOR REMEDIATION IN	٥٥				
Signature: Date: $2 \cdot // \cdot \delta G$						
CONTRACT COORDINATOR INFORMATION						
lame: <u>JAw</u>						
	Leonberg RD	AMPAGRADAM				
<u>Cra</u>	oberry Tup PA 16061	<u>.</u>				
	724. 742./115	····				
mail Address: blissJ @ marcor.com						

Note: Contract holders shall be required to pay prevailing wages for any county in which work is being performed.

ASBESTOS RI	EMOVAL & DISPOSAL PRICING PAGE - REGIO	ON 4 - Berkeley Co	ounty		
OL OL		Price Per		Hours	
Qty. in Sq. Ft.	Asbestos Removal and Disposal Removal & disposal of glue-down floor tile with	Square Foot	Hourly Rate	Estimate	Total
1,000.00	mastic	\$ 3.25	70	47	\$ 3250
1,000.00	Removal & disposal of boiler pipe insulation	\$ 13.25	70	189	\$ 13250
1,000.00	Removal & disposal of asbestos siding	\$ 3.75	70	54	\$ 3750
1,000.00	Removal & disposal of ceiling tile	\$ 4.75	70	68	\$ 4750
		400			
Vlob/De-mob	Mobilization / De/Mobilization	Firm Lump Sun	Price		Total
1	This cost shall be used in any subsequent contract for Region 4	\$ 3500-	70	50	\$ 3500
		Grand Total	70	408	\$ 28,500
ENDOR / BIDI	DER INFORMATION	a comment of the contribution of the contribut			
_					
=NDOR: <u> Y </u>	ARCOR REMEDIATION INC		~		
gnature:		Date:	<u> </u>	6	60 4950 Application
X.					
	ORDINATOR INFORMATION				
	uer Brizz	The state of the s			
	Leooberg RD.	and the same of th			
	aberry Twp. Pa 16066	·			
_	724.747.1115	•••••			
mail Address:_	BLISST EMARCOR. CON	77			

Note: Contract holders shall be required to pay prevailing wages for any county in which work is being performed.